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( Introductory Macroeconomics )
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Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions : 1x10=10
OT PRy O frl

(a) Define macroeconomics.

TR wifey Hewr fm |

(b) Give the meaning of Gross Domestic
Product.

I TF1 Sectvea o i |

(c/) What is disposable personal income?

e ey o 72
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(d)

(e)

(g)

()

(1)

()
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(2

Are illegal activities included in national
income? Give one argument.

2 TN TR T TGS T 2
a6l e frat |

Distinguish between paper money and
credit money.

IS @ AF 9 @R TS AL e 1

Define general price level.

AR T T o |

What is money supply?
@ @l <52

What is liquidity trap?
e T 592

Define ‘inflationary gap’.
TRt P A @

In which case is LM curve vertical?

& cFge LM @ICE OoF 28?2
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2. Answer the following questions : 2x5=10

Ce PRI Oed il

(a) Why is national income measured in
money terms?

SR WY 5 WR qgwe @ @ik w2

(b) Distinguish between gross investment
and net investment.

L R we wa [Rivae Ay orsat |

(c) Mention any two basic issues studied
in macroeconomics.

RS wdAfoe SE 9 R @I 1o 3@
fm e 41

(d) Distinguish between consumption goods
and capital goods.

(Sl & WAIF TR G AT orgeat |

fe) Mention two types of transactions that
are included in the capital account of
balance of payments.

0Ny STHOR YA Rpiore wwde @[t gk
@ A% SEd 40
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3. Answer the following questions (any four) :

5x4=20

Told eEPTERY Ted fordt (R il oif<et) ¢

(a)

(b)

(c)

A23/752

Explain the product and expenditure
methods of computing national income.
On what basis do they give identical
result? 4+1=5

SIOR WY A9 TAFE SF TH A 70!
IR 4 | 6 cFaS qRID! TRowE i FEATE
e ?

Define consumer price index number.
What are the uses of consumer price
index? 2+3=5

TSI 7R oI @ Tl | TSIl wq
A5Pq IR 52

State the various items of the current
account of balance of payments
account. Also, define balance of trade.

4+1=5

e e sfore 2o RKiSa Semprz
JE 9| WA Tofes AfifEre TSR sgw
ot |
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(d) What is meant by demand for money?
Explain the various types of demand for

money. 1+4=5
WR oA @8 qwe osifte Rfew
SPFTR TG 4 |

(e) Explain clearly demand-pull inflation
with the help of diagram. 5
foag TS oiX-awiie wraRs =g
[t 40

() What does the IS curve depend on?
Discuss the main features of the IS
curve. 1+4=5

IS ([F3IClE 529 eo9® 63 3@ 2 IS @EiorER
T [FERPR SITEs= 4 |

4. Answer the following questions : 10x4=40
©o e Oed

(a) Explain the circular flow of income in a
three-sector economy. 10
a3 8y IR T ol ez ot
41|

Or / <9l

Critically explain the cash balance
approach to the quantity theory of

money.

R o o Jawm AR ow!
ARIAGAITEPSIE TG F31 |
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(b)

()
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( 6 )

How do commercial banks create credit?
What are the limitations on the power of
banks to create credit? 7+3=10

MG @RE @ 4 TG B FE? @79

¥ @l BT wIOH AAREOrE 59
Or / =2

“The distinction between cost-push and
demand-pull inflation is unworkable,
irrelevant and even meaningless.” Do
you agree with this view? Give reasons
in support of your answer. 10

“-erifte W im-aciite  qwrifes
M4 Sifed, SR W e 1@
PR G2 ToF L T2 (SN TEIT FNLTS

e |

Define monetary policy. Discuss the
objectives of monetary policy. 2+8=10

Ates kel qwEter Sz

ST=o 4T |
Or [ {1

Critically explain Say’s law of market. 10
'3 I R AICAGTILES JI0 SHI=RTGHT |
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(d) Explain the Keynesian model of income
determination. 10

2 9T 9 G it 549 |

Or /| g4

Explain Hicks-Hansen general equilib-
rium model using IS-LM curves.

I AR S SRG IS-LM
(T F2O G F91 |

A23—6000/752 3 (Sem-2/CBCS) ECO HC 1





